
Solve the Following

Word Problems

Harold went to an apple orchard with five of his friends. There they picked

a total of 654 apples. How many apples did each of them pick?

1.

2.

3.

Answer:

Dorothy distributed 180 pencil boxes to the students of six classes. How

many pencil boxes did the students of each class get?

Answer:

Jonathan is planting trees in his garden. If he planted 927 trees in 9 days,

how many trees did he plant in a single day?

Answer:



Solve the Following

Word Problems

Logan is the costume designer and keeper of a theater group. If he has

arranged 357 costumes in three big wardrobes, how many costumes did

each wardrobe have?

1.

2.

3.

Answer:

Evana had written 534 lines in 6 days. How many lines did she write in a 

single day?

Answer:

Miranda has earned $360 by working 8 hours on Tuesday. How much did

she earn in a single hour?

Answer:


